Pa3aea 2. ITrou3BoaHAS U
TIN®OEPEHITAATT ®YHKIIAA

TEMA 2.2, IIPOUBBOIHAS CJOXKHOM
®YHKIIAN

ILian
1. Ilpou3sBomaHas CJI0KHON (PYHKIUU.

2. 3agayu AJ51 CAMOCTOAAITEIHLHOIO PelIeHusl.



Ecin y = {(U), rne U — HekoTOpas

dynkumsa U =@(x), o y =t (9(x)) —
CIOKHas (PYHKIIMS.



IITPUMEP 1. HAUUTU
[TPOU3BOJHVIO ®VHKIINU
y=2€t9X _ x2.c0s5x.

y'=(2¢9* — x2 cos 5x)’ =
—(U V-W)=U—-(V:-W) =
U'— V'W - VW'




1) U :(thgX)l — thgx .
In2 - (ctgx)' =

ctg x | , 1 _
2 Inx ( Sinzx) -
2€t9 X .1n x
sin? x
2) V'=(x2)' = 2x

3) W'=(cos 5x)' =-s1n 5x - (5x)' =
- 5 sin 5x



2€t9 X .1n x
y' = 2X - COS5x -

sin? x
: 2€td X .1n x
x? - (-5 sin 5x) = —
sin2 x

2x + coS5x + 5x% - sin 5x




IIPUMEP 2. HAVTHU
[ITPONU3BOAHYIO OYHRIVNY

9/ 149x)°
Y= LN 5 :
N \x7+ 3

o CHavasia mpeodopasyeM PYHKITHIO:
5

e () - (52 -2 (52) -

g (In(1 + 9x) — In(x? + 3))




Yy =(2(U=V)) =2 -V

| 1
1) U'=(In(1 + 9x)) = Tror
;9
(14 9x) = o
' 9 ' 1
2) V'=(n(x"+3))' = =5~

9x8
x4+ 3

(x? + 3)' =



- ( 9 9x 8 ) B
Y 9 \1+49x x°+3

5 5x8
14+9x x4+ 3




IIPUMEP 3. HANTU

[TPOU3BOJIHYIO OYHRIINNY

6

y= (4~ 5%

y' =(U>)'=5U%U

3)5










3ATAUM JIJISI CAMOCTOSITEJIBLHOTO
PEILIEHUS

2. €3x+2),

x? - arcsin 2x)’



